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Fourth Semester B.Com. Degree Examination, September
COMMERCE
Paper 4.4 : Cost Accounting
(CBCS) (Fresh + Repeaters) (2015 - 16 & Onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written either in English or in Kannada.

SECTION — A/ 2t = &

1. Answer any five sub-questions, each question carries two marks. (5%2=10)

O3RN TTTN 2T YV~ @éﬁ@ﬁ V30, B3 ajéj QT L20TNRA.
a) Define Costing.
OuSENIeve aﬂcgpéoja 29,85 e,
b) Whatis Tender ?
30T30° Q0TTERD ?
¢) What do you mean by bincard ?
VI TEF Q0BT ?
d) What is Machine Hour Rate ?
0308, FPoLdodd TT orBeRd 7
e) Name any four techniques of Inventory Control .
RO QO30T OINRTRTITR T, 30%71%9{ BADA.
f) What is Memorandum Reconciliation Account ?
RSP0, BRI s8I0 D0TTE ?

g) Define Labour turnover.
TODOFT SRBF S0 559,83, Ded.

P.T.O.
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SECTION - B/agen — 2

Answer any three questions, each carries six marks. (3x6=18)
CIRF TR =R TINer uzds, I3 BIT 6 08N,

2. Briefly explain the objectives of Cost Accounting.
aﬁzgd dﬁm@ @] wzz”géﬁ#ﬁg{ ﬁoégmﬁ QWO
3. From the following information, calculate, EOQ and calculate number of orders
to be placed in a year.
a) Quarterly consumption of materials, 2000 units
b) Cost of placing one order Rs. 50 .
c) Cost per unit Rs. 40
d) Storage and carrying cost 8% of inventory.

33 FINT @GSooT Q3 e m:ajﬁal TN ds&’rm’cﬁgﬁ @"’mou eﬁdeﬁﬁ#@
DO RYRLICED @omddz B0 B0,

a) 3 ZoaE wed 508, 2000 0T

b) 20w &553e8 TI wpORRYAT DddF O, 50

C) W[ P 3 ededdF die. 40

d) TR Torie MWESE w5, 8% mEONOD dee,

4. Galculate Total Factory Cost and Factory Cost per unit from the following

information: 7 ]
Rs.
Number of units of raw materials consumed 10000 units
Cost of material consumed 1,00,000
Direct wages 50,000
Direct expenses 30,000
Factory O/Hs 1,20,000
Opening stock of work-in-progress (2000 units) 60,000
Closing stock of work-in-progress (3000 units) ?
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2ty §T0m 5513303 T3 0RRTS §R0E IR T80T nkdchoes

5, SRB. ‘

B3, BRSO LPFOIRT IR Y Rosg, 10000 0323 1D
WIBCIRT Be3 RN 523, 1,00,000
36T S0wRO 50,000
ixe] dzi 30,000
3O 53@%% ned 1,20,000
ZREoHATI TT, 5ToLT TR (2000 CRRETIE) 60,000
TNSODATS 5TT €508 AR (3000 02 NTD) ?

' 5. Standard time allowed for a job is 15 hours, at the rate of ¥ 50 per hour,
actual time saved by worker is 3 hours. Calculate his earnings under Halsey
System and Rowan System.

2,00 emdf%eﬁig T3 rot3n 50003 15 notins 98&; momsa ANOTERCTDOND. 220,
3ORM™T, 3 NotIng :J’doododdl QN w@ﬁod%, DY, 03) B’ odnexSIoD
B0 9 m@om% eﬁ% T8.

6. From the following information compute a Machine Hour Rate of Machine No. 20
for the month of July.

Cost of machine X 32,000
Estimated scrap value X 2,000
Effective working life 10000 hours
Repairs for life of machine ¥ 2,500

' Standing charges for the month of July X 400
Power consumed by machine @ ¥ 0.30 pu. X 600
The machine consumes 10 units of power per hour.

33 39N TRE&S00T 0308 Fosg 20T 0308 Mot3 ddddgl w0, oMY BOTREEICD.
03083 2wt 3T X 32,000

3T e WS 2,000

0033 22eTHE IR 10000 Motdnsd

030033 WEDBIDRODOFT T8 X 2,500

20¢) SN Rley Db T 400

03T DT wET 0.30 B ohwREFT 2t T 600

0103 ToET 10 C3RREST DTeFE 03T WHRTZS,
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SECTION - C/atn - 2

Answer any three questions. Each answer carries 14 marks.
O3RTYTOTIN S0RTH @’%ﬂ’@ﬁ NBOR, I3 mgdﬁ 14 e203nsh.

LT

(3x14=42)

7. PNK Engineering Company manufactured and sold 1000 machines in 2018.

Following are the particulars obtained :

Cost of Materials 80,000  Rent & Rates 10,000
Wages paid 1,20,000 Selling expenses 30,000
Factory expenes 50,000 General expenses 20,000
Salaries 60,000 Sales 4,00,000

The company plans to manufacture 1200 machines in 2019. You are required to
submit a statement showing the price to earn a profit of 10% on selling price. The

following additional information is given to you.

a) Price of material will rise by 20% on previous year's price.
b) Wage will rise by 5%.

c) Factory expenses will rise in proportion to the combined cost of materials and

wages.
d) Selling expenses per unit will remain unchanged.

e) Other expenses will remain unaffected by rise in the output.

PNK 202300300 802390320 2018 d@m1 000 o'bcgﬁeﬁa"g 3030 [T BB,

BT0 RINR& B8 FPNT083.

AN 3, 80,000 waRSN T3 10,000
QeTRT FRO 1,20,000 S»Hooud 52341% 30,000
TSI HOD aﬁaecgdzi 50,000 mewmRg dddFnYy 20,000
Ze33ned 60,000 SHoow 4,00,000

FOTJICTD 2019 89 1200 Q’i)&’_%ﬁ@éﬂi 303nozen fazsw:’ 0. =WRTHY

3638 10008 ©pe3THs emcs’@dsa dh&oi)’a’i J0IR02. a%ziz;.jb =
BRBRNT.

a) RTINS LISE0 &HodI DHFY8 20% DOTOIRNTIT,

b) BRI ezt 5 O DOFCIRNTIT,

d) =Row HIR) TS R TS SR TR VT,

€) WWSE BIFPTOR, VIS VDFTY 1) FreITY wreamEaney,
: .* b ™~

3

3
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8. GB Ltd. uses copper wire as a raw material which is purchased from the
market. The following particulars are available in respect of the transactions

for January 2019.

Jan. 1 Opening balance 300 kg. at ¥ 25 per kg.

Jan. 3 Purchased 500 kg. at ¥ 26 per kg.

Jan. 4 Issued 220 kg.

Jan. 10 Issued 440 kg.

Jan. 20 Purchased 490 kg. at ¥ 23 per kg.

Jan. 25 Issued 300 kg.

Jan. 27 Surplus 20 kg. returned to store out of quantity Issued on Jan. 4

There was a shortage of 25 kg. on Jan. 15.
Prepare Stores Ledger for these transactions under LIFO and FIFO methods.

GB don® swo’ ddofﬁeddoq B3, MSNTN SPTFLEHA | 00O SRETY,
w[0 2019 T ©E03:) 83 89 So0ACET,

%[0 - 1
%R=O - 3
RIRO - 4
%320 - 10
&SR0 - 20
%RZO - 25
RIR0 - 27

580108 ©0¥8 300 2. T3 822,75 25 T,

0¢0 500 F22. T §22.7% 26 T,

QelE 220 322,

Qeqdd 440 92,

D060 490 3. T 823,73 23 .

QeRE 300 &2,

QBT 20 §22. 0N, WIIO - 4 T ARTAWOT &oITHNTLRNT,

Q008 15~ wRx0030wd 25 §e. FRIOAIRNG.
81 3000,08 [P&I00eT, FIFO 2033 LIFO mrsadd Aosne smdoba Scind.

9. From the following, prepare a Reconciliation Statement, calculate profits as
per Financial Accounts.

a) Net profit as per Costing records 1,72,400
b) Works overhead under recovered in costing 3,120
c) Office overheads recovered in excess 1,700
d) Depreciation charges in financial records 11,000
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10.

e) Interest received but not included in costing 8,000
f) Income tax provided in financial books 40,300
g) Bank interest credited in financial books 750
h) Store adjustment credited in financial books 475
i) Depreciation of stock charged in financial books 6,750
j) Depreciation recovered in costing 12,300
39N DBTRP0T BromrdE GE Botnos, Brasm SRR HFR0 COLINR)
F0TIROD.

a) 33 Dear TR, TT0E 0TS oY 1,72,400

b) &3 dearchzoR, 5, WFBRD 5230 & FHoeOTIRIR,

BRI TR VBT 3,120

C) BEYS JF B ﬁzezfdda}g( 30BN TR TBOTFY T 1,700

d) @eoToR BFFEE) TRORINTII R8P 11,000

e) &3 Qo abTaR, CEHFIEY BeOROTIT WE 8,000

f) @eotomd YHTRY, SBNTGNTI ETRod 301 40,300

g) Bravomd PFBRY, SEF SRTERORTS 13,083 LG 750

h) @B PHRBEE) SBRBOKRS ORI BROTHET W IRRTRYTO 475

i) @esToRd YRBRO BROXTT TR BT ATFY 6,750

j) 3 Rear oTREY WomE TEHTRD T8y 12,300

A Factory has three Production Departments and two Service Departments. The

overhead distribution summary shows the following :

Departments Amount (%)
A 6,300
B 7,400
C 2,800
X 4,500
Y 2,000

(Y]

¢
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The Service Departmental expenses of X and Y are to be distributed on a
percentage basis as follows :

Particulars Production Departments | Service Departments
Service Departments | A B C X Y
X 40% | 30% | 20% i 10%
Y 30% 30% 20% 20% -

Prepare a secondary overhead distribution summary under:

a) Repeated Distribution Method

b) Simultaneous Equation Method.
%000 T2 F0DE FoRTd LVBTS Qepalrish TN TR Aeam VRN, e 23,

DITF ATI03 83 BPNT08T
a3 (3».)
A 6,300
B 7,400
C 2,800
X 4,500
Y 2,000 |
X &028) Y Reeso aeniny 93&33?71@}:% BB STV 23063 B3 TBOEOS BOLIPNT.
Mo eromwdm BeAIN 20339 Q&I
50530 RN A B C X Y
X 40% | 30% | 20% - 10%
Y 30% 30% 20% 20% -

£ Be0> 226823, D05 Ty 31 30T GRARYE Zasno.

a
b

) 0> Bous B
)

DEFOT ROCTTED TS,
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11. From the following, you are required to calculato tho oarninge of o workor lor a
weok undor !

a) Straight ploce rate aystem
b) Taylor's differential ploco ralo systom
¢) Halsey Premium Plan.
d) Rowan Premium Plan
Weokly working hours 48
Hourly wage rate () 30
Piece rate per unit (X) 12 ‘)
Normal time allowed per piece12 minutes
Normal output per week 240 pleces
Actual output for the week 300 pleces

Differential piece rate 80% of piece rate, when output is helow normal and
120% of piece rate when output above normal,

83 §4980% LTONYoT BORMUR 5008 8RO, BomLW B0,
a) S0 o BG WIS
b) £3e00 TR0 QG BOTD 0 Wrdgohed
C) T &e0aD0T0T Bo2)
d) BT &eddobo odnewdadrod
20T s30T FORT notdnsh 48 (]
notdnt 89 38 (X) 30
F cdreRts’ B0 T3 (3) 12
T3 Rolrt NeRTHT WRRF, BR0H 12
3 08, TNT, NS 240 So0RND
NI YVTT 08 300 200Toned
2OG 308> 33 Je. 80 Fod 2oerd S0T 2ot BoRBAINT T, LUTTHI
mma; UTTINCE BRI 2T, Be. 120 O3 S3cd TuT e 8orddbR oI,
GUTDTBROI0 TMINT WSHTINCE THNTY.




